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10 Here is a map.
The map shows tw towns, Bueford nd Hightown.

Sale 1 cmepresnts 10k

A company i oing 1o bk  warchouse
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13 (a) Atransport lorry consists of a cab and a trailer.
“The trailer has a volume of SOm.
Alfie makes 2 model of this oy using a scale of 1: 72.

Wk out the volume ofthe railer n Alf's model, ghing your answer i cm.

(b) Al paints his model lorry.
He has ight colours available.

He decides 1o paint the cab in one colour and the ralle i a diferent colour

He then wants 1o paint his name on the trailer.
The name must be i a different colour to the traller.

Inhow many diflerent ways can Al paint his model lory?
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9 (a) The scale 1cm represents 25m can be written in the form 1 - k..

Find the value of k.

(6) The scale drawing represents a harbour.

Scale: Tom reprosents 25m

11

‘Abostlaves theharbour from point C and sas on a path hat i squidstant rom EC and CD.
“The harbour ies do ot alow bosts o Sail within 75m of poin .

Find by consiructon whethe e pah of the boat wilfollow he harbour ues.
‘Show al your constrcton Ines.
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5

‘This map shows part of a village.

Neil knows that Packer Streetis 180 long i real Ife.
(a) Neil measures the map.
Hesays

Packer Street is 35cm long.
High Street is 11.2cm long.

Therefore, T calculate that High Street is 576m long in real life.

Use Neifs figures to show that the answer to his calculation is correct.
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(b) Jodie measures the same map.
She says

1 think Packer Street is longer than Neif's measurement of 35cm.
Therefore, High Street must be longer than 576m in real life.

Is Jodie's reasoning correct?
‘Show how you decide.

(€) On another map, Packer Streetis 2.4cm long.

Express the scale of this map in the form 1 : n.

) 1
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5 The scale diagram below shows two cities, P and Q.

‘Scale: 1.cm represents 125km

Aplane departs from P at 09 47 and arrives at Q:at 12 07.

(a) Work out the average speed, in kiometres per hour, of the plane.

@ e (5]

() Give one reason why your answer may be inaccurate.
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The scale diagram below shows towns, A, B and C.
Line AB represents the road from A o B and line AC represents the road from Ato C.

A shopping centre is to be buil so that tis

* nearerto the road from Ato B than the road from Ato C,
* less than 14km from town C.

() Using construction, shade the region where the shopping centre could be buit.
‘Show all your construction lines.

Scale: 1cm ropresents 2km

"

() Explain why the region found in part (a) may not be an appropriate sife for the shopping
centre.
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2 (a) The scale of amapis 1cm represents 25m.
(@) The lengin ofapath s 240m.
Work ou helengih, in centimetrs, of the path on the map.

(@ e ——10]
(i) The scale 1cm represents 25m can be writen n the form 1:.

Find the value of k.

(b) The scale drawing represents a park.
‘Scale: 1cm roprosents 25m

A b

Anew play area must b

- nomore than 150m from B
* closer o AD than to CD.

‘Consiruct and shade the region where the play area can be positioned.
‘Show all your construction ines. o]
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14 ‘The scale drawing represents a garden.
Water from a sprinkler at P reaches up to 20 metres from P.
Water from a sprinkler at Q reaches up to 25 metres from Q.

Scale: 1 cm represents 5 m

Using a pair of compasses,
‘show the region that water from both sprinklers reaches.
2 marks]
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10 Heres  scale draving of aofice.
ot sl 1 o 2.
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The phoocopir sso b o be s tan § mres Fom C.

Shom, by sading e e whee e s cn eyt
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10 Use ruler and compasses to construct the perpendicular rom poiat C fo the ine 45,
Yo must shore allyous construction ins.

4
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8 The diagram shows a garden i the shape of a rectangle.
The ssl f the disgram s Lo represets 2.

Scales 1 eamsepresents 2.

Ifin e going to plast 3 e i the .
The ree it be-

snore than 3 meves o the patio
and mor than §matres fom the cente of the pond.

O the isgra, shade th region where T camplast the e
(Total for Question 8 s 3 marks)
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*10 The disgram shows the floor of a village hall.

om

accuracly drawn

Tem

“The cacakernesds o polshthe floce.

One i ofpolish sormallycoss £19
One i of polish covrs 12 of o

“Thes i  discount of 3084 o te cost f the plish.
The caresker b £130

Hasthe caraker gt cnough money 0 buy the polis for the floor?
You mustshow sl your working.
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